Ideals Inescapable

Agnes. S. Key

Cx0O hi,h €eC®0O

ha(hi()):CRO—-C®RO0

ap,a1 ER  a=ag+ia; € C
ha(hi()): frho(hif) eC0

w=-1 *x:a—a" =ag—1ia

hl,hg,hge(C@@

fosfr1..-. fr€C hs (ha (h1()):C®0—-C®O

f=toeotfrer+ frer€COO hy (ha (b ( ))) = £ = by (ha (A1 f)) € CE O

tej=¢e;0 Vji=0...7

col={m=3 nO)+Y hur()

6051, 61612—1, 6767:—1

+ he (hy (he (1)) ¢ ~ Clg(C)
€€ = —€LE; VJ,]C:17, ]#k Zm,y,z Y }

%
ejer =€ = e€jt1k+1 = €41 Vi, k=1...7 m,n,p € C® O

ejer =€ = egjeap =€y Vi k=1...7 nm=p < n(m(f))=p(f) VfeCoO0

€1€2 = €4

1= fieo— fiei — faea-- — freq

_ —e5 +tey —e3 + teq —eg + 1e2
Iceb M T2 W=
w=ai(as(as( ) €Co O
h1eCx0 ww =10
h( ):CO0O—-C0 wwrww® = ww*

hi( ): f—=hfeCo0 a-s_s_k@live.com



1 * * 1 * *
—_— +§(b2 by — by bl)A3*§(b3 by +b17b3) Ay

3T
pd . ; 1
I= { seC® 0O | s=sww } cCw® 6 +3 (by*bs — b3*ba) A7 — —— (b1 *b1 + ba*by — 2b3%b3) Ag

2 23
v=ww* e =amawiw=w=e* Enf=ej(en(f)

* * * 1 )

df = —aqw'w  d% = —aw'w  dP = —aswtw 55#/355_%(ﬁ3+ 26 + €15)
u? = ajajwwt  uC = ajaiwwt WP = ajabww” A = 1((% —&1) As= 1(_ o — &)

2 2

I=1{ Vv +DE® + D" + DBGB” i i
{ A355(—%+ 45) A4E§(%+ 46)
R, R G, G B, B + _+ ; )
UMW UTUT U +ETe }, AsE%(—&‘i‘%) AGE%(%—F %)
SR /G B 1/R 1,G 1/B o+ ; j
V3D7D3Dau7u7u7g eC A7E£(%+%) AgEL(%ﬁ-%—Q&)
2 2V/3
* P *
IE{S€C®@|S:SWW}CC®6 IL(SUL(2) =T ...
I = { Vv + DRAR + DCAC + DBGP
+URE L UGS +UPUET + Em e },
v, DR, DY DB, Uk, U uP, £~ ecC
#/3 S#/3
+1 1
LUem (1)1 & L(SU:(3))1
+2/3 -2/3
b= biaq + boas + by 173 13
bi, bs, b3€C  blbeCo D . .
bTb = (by*by + by by + b3*bs) €
%

—5(51 by + by b1)A1+§(b1 by — ba"b1) Ao



